Name: __________________________________________________________________ Hour: _________
Algebra 1
Chapter 2, Sections 1-4 Quiz Review
Graph the following linear equations (use any method you prefer):
1)  y = 1/4x - 2				2) y = -2x – 5				3) y = x/2 - 3
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4) y = 4							5) x = -7
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Find the slope of each line:
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Find the slope of each line:


9)					10)			11) [image: ]
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12) What is the slope of a line that is parallel to the line in #6? ___________________

13)  What is the slope of a line that is perpendicular to the line in #8? _________________


For problems #14-16:
· Identify the slope
· Identify the x and y intercepts
· Graph the equation

14) Equation:  y = 3x - 1						15) Equation:  6x – 2y = 12		
		
		Slope = __________					Slope = ____________

		X-intercept = ____________				X-intercept = ____________

		Y-intercept = ____________				Y-intercept = ____________
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16) Equation:  -18x + 9y = 72		
		
		Slope = __________

[image: graph]		X-intercept = ___________
		
		Y-intercept = ____________			
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